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Crescent Girls’ School

Additional Mathematics

Worksheet: Matrices (1)
Name:_______________________________ (           )                                       Class:_______________

1. Given that 
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 find A-1 and hence solve the simultaneous equations, 
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2.
Given that 
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 and PQ = R + P. Evaluate P.
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3.
Given that 
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, find A-1 and hence solve the simultaneous equations, 
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4.
Given that 
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 write down the inverse matrix A-1. Hence find the matrix X for which AX=2B-3I where I is the identity matrix.
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5.
Given that 
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 find A-1 and hence solve the simultaneous equations, 
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6.
(a) Find p and q given that 
[image: image13.wmf]÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

÷

÷

ø

ö

ç

ç

è

æ

14

18

2

5

1

4

p

q



(b) Find the values of m if the matrix 
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 is a singular matrix.
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7.
By using a matrix method, solve the simultaneous equations 
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8.
(a) Find the value of k, where k>0, for which 
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(b) Using the value of k found in (i) and given that 
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9.
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(i) Find 
(a) A2,
(b) A3, and explain the significance of your answer. 

   Hence, write down A2002.

(ii) Given that PB=B-2A, find the matrix P.
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10.
Given that
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 find A-1 and hence solve the equations 
[image: image23.wmf]7

2

=

-

y

x

 and 
[image: image24.wmf].

1

2

=

+

y

x
















[MGS/2002/P1]
11.
It is given that 
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(a) Find the inverse of A.

(b) Hence find the matrix X if 
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(c) Hence write down the equations of a pair of straight lines which intersect at the point (2,3), showing all your working clearly.
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Answers.

1. 
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5. 
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6.  (a) p=4; q=-3 
(b) m=1 or – 4
7. x = 1, y = 4

8. k = 1;
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9. (i)(a) 
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(ii) 
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10. 
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11. (a) 
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(b) 
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(c) 2x-y=1; 4x+3y=17
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